<U3sururnk@3nku

cruLuuusbhL cduvuaustuarsrpr UbNSnd aLUUL LLUsSULUrand
nuU3vuLUshr yLL6ELNr NPNSUUWL UUWUDL

Zuynuwpupnipju unijtt mkpunnp hwunwwnyws E quuwhwwinnng hwtdtwdnnnygh
2017 pywljuh thknpdunh 23-h phy 4 npnodwdp b hpuwwywpwljynd k
“Qunidubph dwuht” 22 opkuph 9-pr hnnwsh hwdwdwyt

CLEUSUYULeh OUDUUQP L <MNSL-GLUMNAR-15/7-17/1

Nuwunyhpunnt’ «<wjuunwih yhnwljut ntntuwghnwlut hwdwjuupuiy TOUY-p, npp
gquiynid k p, Gplhwl, Lwjputyut 128 hwugknid, unnpl ukpuyugunid £ <MSL-c<UMIP-15/7-17/1
dwsugnny hwjnupupjus qudwt pipuguljupgny wuydwwgpbp Juphnt npnpdwt dwuht
hwdwnpnwn nknkjuwnynipniip:

Quwhwwny hwbtdtwdnnnyh 2017 pduuth thbtwupjuph 23-h phy 4 npnodudp
hwunwwndlk] tu plpugulupgh dwubtmljgh Ynnuhg ubkpyuyugws hwynph® hpwdtph

wyuwhwoubphtt hwdwwwunwujwinipyut guwhwndwt wpyniupubpp: Zwdwdjut nph’
Quthwpwdhu 1:

Yudwi wnwplw E hwunhuwund® ppuwlysnn dwywybu gpuihnt wunhwuubph hwdwp:

<pwytph <pwytph
wwhwugubkphu wwhwugubphu
Uwutwygh
whiurtinudp hwiwwywwwufuwunn | shwdwwywunwujuwunn Uthwdwwywinwuluwbniejwl
</<
hwywntip hwywnbip hwdwnnun uwpwgpnypniu

/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubint
nbwpnud gk “X”/ nbwpnud gk “X”/

1 «EYyndphpu» UNC X




Cunpdws U wutwlgh wnwowplyws
U wutiwlhgtbph Huubiwilihg qht
wnbanwé U wutwygh /punpwd
ar : :n wuyjwunwdp dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwqup npwd
1 «Eynuppu» UNC X 113.6

Cunpws dwubwlghtt npnokynt hwdwp Yhpundws swhwihy pudwpup quwhwngws

Quthwpwdhu 6:

hwjn b yjwbwht quhg gwén quuyhtt wmnwewplyp:

Yudwt wnwplw E hwunhuwund® gknnigdwy Jwpnyngubph dhwgdwi nnwy/pwsny/:

<pwytph <pwytph
wwhwugubkphu wwhwugubphu
Y wutiulgh huwd " huwd ”
¢/c wuwnuip w luu:‘wmu;ufuw | ehu lul:wmul:u[uw " | Ushwdwywnwuluwunyeywl
wyntp wyntp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubnt
nGwpnud gk “X”/ nbwpnud gk “X”/
1 «Eyndhpu» UNLC X
2 «Ejhwpun» UNC X
3 «Lhnkp Lndthwtth» UNC X
4 «SNC» UL X
Cunpdws U wutiwlygh wnwowpyws
Uwutiulhgtb duiutiulihg ght
i w:hg é[‘h U wutwlgh /punpqwd
w w
ApunEgn wuyjwunwdp dwutiwlygh /wnwug ULL/
wtnknp
hwdwp ugk|
“x/ hwqup npwd
1 «Lhntp Lndthwth» UL X 12.0
2 «E]lululpm» uare 16.8
3 «Eyndhpu» UNC 19.7




4

«SNC» Uune

14.1

Chnpjws dwubwlghti npnokynt hwdwp Yhpundws swhwihy pudwpup quwhwngws
hwjn b yjwbwht quhg gwén quuyhtt wminwewplp:

Quthwpwdhu 7:

Qudwt wnwplw L hwinhuwiund®  gknnigdwtu  Jwpwlngh uphynut  wwhnnuy
/ynwgjuunlw/:
<pwybph <pwybiph
hwugubkpht hwugubkpht
Uwutimlgh hll]”ww2 nhh h:lww2 nhtl
¢/ wtwunuip wlwwywnwufuwnn | shwdwywnwupuwing Uuhwiwwwwnwufuwuniypjuu
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYyndhpu» UNL X
2 «EjJhwpwn» UNC X
3 «Lhnbkp Lndthwutth» X
une
Cunpdws U wutiwlygh wnwowpyws
U wutiljhgub duiubuilihg qht
e Lull:hg él‘h Uwutiwlgh /punpyuid
w w
ApunEgn wuyjwunudp dwutiwlygh /wnwug ULL/
wtnkpp
hwdwp Uk
“x/ hwquwp npwd
1 «Lhgtp Lndthwth» UL X 20.0
2 «Eplhupiny UNC 125.0
3 «Eyndhpu» UNC 61.6

Cunpdud dwubulghtt npnokint hwdwp Yhpungws sunhwihy pujupup qhuhwungwus
hwjn b yjwbwht quhg gwénp quuwyhtt wnwewplp:

Qwthwpwdhu 8:

Yudwy wnwplw E hwunhuwtunud® htingnw /pnpn/ 1604 GplYy.12ud:




<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Ywutulgh 1 s ” huwd u
¢/c wuwinudp wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugb “X”/
1 «EYynuphpu» UNC X
2 «Ejhwpw» UNC X
3 | UQ9phgnp Upjuquub X
Cunpdws Uwutwlygh wnwowplwé
U wutiljhgub duiutuilihg qht
e w:hg bl‘h Uwutiwlgh /punpyuid
w w
APHEg wuyjwunudp dwutiwlgh /wnwug ULL/
wtnkpp
hwdwp ugb|
“x/ hwqup npwd

1 U2 9phgnp Upfuqyuie X 30.0

2 «EjJhwpun» UNC 97.5

3 «Elyndhpu» UNLC 30.7

Chwnpws dwubwlghtt npnokynt hwidwp Yhpundws swhwihy pudupup ghwhwnws
huyjin b wjwtwght quthg gudp quwyhtt wnwewplyp:

Quthwpwdhu 9:

Gudwl wnwpYuw k hwunhuwund® dwubl /quyyw/ 164d.EpY.12ud:

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutligh | g 7 huwd u
¢/ wiywunuip wiwwwinwupwbng | shwdwwyuwnwuuwing Uuhwiwwwwnwufuwunipjuu
hwywntp hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugky “X”/
1 «EYynuhpu» UNC X
2 «Ejhwpwn» UNC X




3 U2 Sphgnp Upjuqub

X
Cunpdws Uwutwlygh wnwowplwé
Uwutiwyhgubph Huutiwilihg qhl
kanws Uwutwygh /punpqwd
w w
AptnEIn wtgwtnudp dwutiwlgh /winwig ULZ/
wtnkpp
hwdwp Uk
“x/ hwquwp npwd
1 «T:;llndbpu» une X 6.25
2 «EpJhwpin» UNC 30.0
3 U Inhgnp Upjuqui 22.5

Chnpws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
huwjn b yjwbwht quhg gwén quuyhtt wnwewplyp:

Quithwpwdhu 24:

Qudwy wnwplw E hwunhuwund® MnjhypnyhGup junpnjuyh dYpwen:

<pwytph <pwytph
wwhwugubphu wwhwugubphu
Ywutwlgh 1\ ” huwd u
wuywunuip wdwywinwufuwing |- shwdwywnwufuwtng Uuhwidwwywunwuluwunyejw
</L hwjwnbp hwjwnbp
hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing

nbwpnud gk “X”/

nbwpnud ugby “X”/

«Elyndhpu» UNLC X
2 «Eyjjhwpwny» UNC X
3 «Lhnbkp Lndthwtth» X
unc
Clunpdws Uwutiwlygh wnwowpyws
dwutwlyhg u
U wutiwlyhgubph Jobinndws qh
qp::h:pwd U wutiwlygh wujwuniudp Jwutwlgh /winuiug UCZ/
TNt huwdwi gk
X/ hwqup npwd




«Ejjhwpun» UNC X 10.2
2 «Eynuhpu» UNC 8.9
3 «Lhntp Lndthwth» UL 16.2

Cunpws dwubwlghtt npnokynt hwdwp Yhpunjws swihwihy pudwpup quwhwngws
hwjn b yjwbwyht quhg gwénp quuyhtt wmnwewplp:

Quthwpwdhu 25:

Yudwy wnwplw E hwunhuwund® MnhypnyhGup unpnuyh wuyyniuwy 3/4 n:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
uwutwlgh 1 s ” huwd ”
¢/ wuwinuip wlwwwinwufuuting |- shwiwwwinwupuwtng Uuhwdwwywwnwufuwunipjuu
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuppu» UNC X
2 «EjJhwpw» UNC X
3 «Lhnkp Lndthwtth» X
unc
4 «SNC» UNC X
Cunpyus Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutwlhgubiph Jobinndwd qht
G & Uwut ujwuntd
qpll:l:l :pm wutiwlgh whduiuntdp dwutwlgh /wnwug UKL/
TNt huwdwi gk
“x/ hwqup npwd
1 «SAOC» Une X 4.9
2 «Eyndhpu» UL 6.5
3 «EpJhwpwn» UL 8.0
4 «Lhntp Lodthutth» UNC 8.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngwus
huyjin b wjwbwght quthg gudp quuyhtt wnwewplp:




Quthwpwdhu 26:

Yudwy wnwplw E hwunhuwund® qug:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Ywutwlgh 1 s ” huwd u
wuwinudp wlwwwinwufuuting |- ghwdwwuinwufuutng Uuhwdwwywwnwufuwunipjw
</L hwjinbk hwjunbk
jutn jutn hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugbi “X”/
«Jdwhwql
1 vwywwnpyut Upquph» X
u
2 «Eyndhpu» UL X
3 «EjJhwpw» UNC X
Cunpdws Uwutwlygh wnwowpyws
dJwutwlhg
U wutiwlyhgubph Jotnndud qht
G & Uwut ujwuntd
qu: :pw wutiwlgh wiwlinuip dwutwlygh /wnwug UKL/
n
e hwdwp Ut
X/ hwqup npwd
1 Juwhwgh Mwswinpyui Upquph» UL X 221.0
2 «Eyndhpu» UNL 211.25
3 «EpJhwpwn» UL 228.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
hwjn b yjwbwht quhg gwénp quwyhtt wnwewplyp:

Quthwpwdhu 27:

Yudwy wnwplw E hwunhuwund® Ejunpnn 3dd:

<pwybph <pwybiph
Uwutiulgh wwhwlgtbpht wwhwlgubpht Uittt
wiwwwwnwufuwunyejw
</< wijwlnuip hwiwwywwwuluwunn | shwdwwywwwujuwunn " )
hwdiwnnun uwpwqpnypniu
hwjwnbip hwjwnbp
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing




nbwpnud gk “X”/

nbwpnud gk “X”/

«Jdwhwql
1 vwywinpjut Upquiph» X
U
2 «Elyndhpu» UNLC X
3 «Ejhwpwn» UNC X
4 «Lhntp Lndthwih» X
uae
Cunpdws Uwutwlygh wnwowpywéd
dwutiwlyhg u
Uwutwyhgubph /by qh
G o Uwul ujuunid
AptnEgnt wutiwgh wdwtinidp |- o uygh /wnwig ULZ/
wbintpp
hwdwp Uk
“x/ hwqup nppwd
1 Jwhwqu vwgwwnpyut Upquph» UK X 32.9
2 «Eynuphpu» UNC 29.9
3 «Ejdhwpwn» UNC 49.5
4 «Lhgbkp Lndthwith» UL 33.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwtwght qthg gudp quwyhtt wnwewplyp:

Quthwpwdhu 28:

Yudwi wnwplw E hwunhuwunud® énpwly ppny:

</<

Uwutiwlgh
wujwunidp

<pwybph <pwybiph
hwugubkpht hwugubkpht
twhuiigbinh tywhuiigbinh Uuhwdwwywunwuluwuniejw
hwiwwywwwuluwunn | shwdwwywwwujuwunn
hwdiwnnun uwpwqpnypniu
hwjwnbp hwjwnbp
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing




nbwpnud gk “X”/

nbwpnud gk “X”/

1 «Elyndhpu» UNLC X
2 «Ejhwpw» UNC X
3 «Lhnkp Lndthwih» X
unc
Cunpdws Uwutwlygh wnwowpywéd
dwutiwlyhg u
Uwutwyhgubph /by qh
G o Uwul ujuunid
qpuntgnu wutiwgh wdwtinidp |- o uygh /wnwig UC</
wmbnbkpp
hwdwp Uk
“x/ hwqup nppwd
1 «EYynuppu» UNC X 249
2 «Epjhwpwn» UL 66.0
3 «Lhgbkp Lndthwith» UL 44.7

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngwus
huyjin b wjwtwght quthg gudp quuyhtt wnwewplp:

Quthwpwdhu 29:

Qudwt wnwpYuw k hwiunhuwund® ynihypnyhbup funpnuyp walniowy 1 pnyd:

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutligh | g 7 huwd u
¢/ wiywunuip wiwwwinwupwbng | shwdwwyuwnwuuwing Uuhwiwwwwnwufuwunipjuu
hwywntp hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «Eynuppu» UNC X
2 «Ejhwpwn» UNC X




3 «Lhnkp Lndthwh» X
unc
4 «SNC» une X
Clunpyws Vwutwlygh wnwowpyws
dwutwlhg u
U wutiwlyhgubph Jotnndud qh
G & Uwut ujwuntd
qu: :"“‘ wutiwhgh wiwlinudp |- c 0 wygh /winwiug USZ/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 «SNL» UL X 3.1
2 «EYyndhpu» UNL 3.7
3 «EjJhwpun» UNC 4.05
4 «Lhgkp Lndthwth» UL 6.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b yjwbwht quhg gwén quwyhtt wmnwewplp:

Quthwpwdhu 33:

Qudwy wnwpyuw E hwunhuwund® ynihypnwyhbup funpnuyh walyniswly 1 pnyd:

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutwlgh 1\ 7 huwd u
wiywunuip wiwwwinwupuwbng | shwdwwywnwuuwing Uuhwiwwwwnwufuwunipjuu
</€ hwjwnbp hwjwnbp
hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
U2 9phgnp UyJuqyuib X
«Pupubnyub X
Bnpwypubp» UNC




huyun b wjwtwght quthg guép quwyhtt wnwewplp:

Clunpdws Vwutwlygh wnwowpyws
dwutwlyhg u
Uwutwlhgubph A qh
Ggpwé Uwut ujwunid
qul:l :pw wutiwlgh widwlinuip dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 « Puipubknyuit Gnpuyplkp» UNC X 1325.0
2 U2 9phgnp Updugqyuib 1709.2

Chnpjws dwubwlghti npnoknt hwdwp Yhpundws swthwihy pudupup ghwhwindws

Quthwpwdhu 34:

Qudwt wnwpyuw £ hwiunhuwund® dEnwnnuyjjwunt phwi /onybtw/:

<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Ywutligh | g ” huwd ”
¢/ wtwunuip wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwuniypjuu
hwywnbip hwywnbp hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuppu» UNC X
9 «Lhnbkp Lndthwtth» X
unc
3 U2 9phgnp Upjuqyuits X
Cunpyus Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutwlhgubiph Jobinndwd qht
G & Uwut ujwuntd
qpul:l: :ptu wutiwlgh whduiuntdp dwutwlgh /wnwug UKL/
e hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UL X 3.2
2 «Lhnbkp Lndthwth» UL 13.0
3 U @phgnp Upjugyui 14.0




Cunpjws dwubwlghti npnpkynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwyn b ypuwbughtt quhg gudp quuyhtt wnwewplp:

Quthwpwdhu 35:

Yudwy wnwplw E hwunhuwiund® dEnwnnyjuwunt nnw unnuwl /yhuqubn/:

<pwytph <pwytph
wwhwugubtphtu wwhwugubtphtu
Uwutwlygh
whiurtinudp hwiwwywwmwuluwunn | shwdwwywwwujuwunn Uthwdwywinwuluwtniewh
</<
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «EYynuhpu» UNC X
2 U2 9phgnp UyJuqyuib X
Cunpyusé Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutwyhgubph [abnpyws qht
G & Uwut ujwuntd
qu: :'"" wutiwlhgh widwinidp |- c 0 wygh /winwitig UCZ/
n
Tne huwdwi gk
“x/ hwqup npwd
1 U2 9nhgnp Uyduquit X 20.0
2 «Elyndhpu» UNLC 26.9

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngwus
huyjin b wjwtwght quthg gudnp quuyhtt wnwewplyp:

Quthwpwdhu 36:

Qudwy wnwpyw E hwunhuwund® Ubkunwnnywub funpnduyh huwpp 1 pnyd:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubkphtu
Uwutiwlgh
whiurtinudp hwiwwywwwuluwunn | shwdwwywwwujuwunn Uthwdwywinwuluwbniewl
</<
hwywntp hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud gk “X”/




«EYynuhpu» UNC

2 «Epjhwpwny UL X
3 «Lhnkp Lndthwih» X
une
4 «SNC» yne X
Cunpdws Uwutwlygh wnwowpywéd
dwutwlhg u
Uwutwlhgubph ot qh
G y Uwul ujwunid
qrunEgNU wutiwhgh whjuiunudp dwutwlygh /wnwug UKL/
wmbnbkpp
hwdwp Uk
X/ hwqup nppwd
1 «Eyndhpu» UNC X 14.9
2 «EjJhwpun» UNC 27.0
3 «Lhntp Lndthuth» UNC 48.0
4 «SNr»umne 52.4

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pudwpup quwhwngws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:

Quthwpwdhu 37:

Qudwtu wnwpluw E hwinhuwund® Swnwi (udbpin) wbpdbpwwnpp wwpbnhnbt 5 04, 8 ud

Gpywpnye)niu:
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Ywutwligh g ” huwd ”
¢/ wwbnuip wlwwwinwufuutng |- shwiwwwinwupuwng Uuhwdiwwywwnwufuwunipjuu
hwywntip hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing

nbwpnud gk “X”/

nbwpnud gk “X”/

«EYynuhpu» UNC

X

«Lhnbkp Lndthwth»
unc




Clunpdws Vwutwlygh wnwowpyws
dwutwlyhg u
Uwutwlhgubph ot qh
Ggpwé Uwut ujwunid
qpluI:[ :pw wutiwlgh widwlinuip dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNC X 1.2
2 «Lhgkp Lodthwth» UNC 3.0

Conpws dwubwlghti npnokynt hwdwp Yhpunjws swihwihy pujwpup quwhwngws
huyun b wjwtwght quthg guép quwyhtt wnwewplp:

Quthwpwdhu 38:

Qudwt wnwplw £ hwiunhuwund® Swnuwih (udbippn) wbpbbpwwnpp wwpbnhnt 6 G4, 8 ud

Gplywpnyeyniu:
<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Ywutwlgh 1 s t huwd t
¢/c wuwinuip wlwwwinwufuuting |- shwiwwwinwupuwtng Uuhwdwwywwnwufuwunipjuu
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuppu» UNC X
5 «Lhnbkp Lndthwtth» X
unc
Cunpdws Uwutwlygh wnwowpywéd
Jwutiwlhg
Uwutiwlhgubph ot qhu
G L Uwut ujwunid
PN wutiulgh widuibinilp - o bwgh /winwig ULZ/
wtnkpp
hwdwp Uk
X/ hwqup npwd
1 «Eyndhpu» UNL X 0.8
2 «Lhnkp Lndthwth» UL 1.8

Cunpdud dwubwlght npnobint hwdwp Yhpunjws swhwbhy pudupup qhuhunws
hwjun b ywjwbwht quhg gwénp quuwyhtt wmnwewplp:




Quthwpwdhu 39:

Qudwtu wnwpluw £ hwinhuwund® Swnwih (udbpn) ybpbbpwwnph wwpbnhnt 7 04, 8 ud

Gplywpnyejniu:
<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Gwutligh | g 0 huwd u
¢/ wtywunuip wlwwywwnwufuwnn | shwdwywnwupuwing Uuhwiwwwwnwufuwuniypjuu
hwywnbip hwywnbp hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwutuwubnt | shwdwwwnwufuwubnt
nGwpnid ugbi “X”/ nGwpnid ugki “X”/
1 «EYynuhpu» UNC X
9 «Lhnkp Lndthwtth» X
une
Cunpdws Uwutwlygh wnwowpyws
dJwutwlhg
U wutiwlyhgubph Jotnndud qht
G & Uwut ujwuntd
qp:\ll;lq::nw wutiuligh whjwtnuip dwutwlgh /wnwug UKL/
hwdwp ugb)
X/ hwqup npwd
1 «Eynuhpu» UNC X 0.94
2 «Lhntp Lnuthwuh» UNC 1.8

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwtwght quthg gudp quuyhtt wnwewplyp:

Quthwpwdhu 43:

Gudwt wnwplw E hwinhuwiund® Swnwih (udbppn) whpbbpwnnph wwpbnhnbk 10 8 qifupyp
hwuwnyeniup, 15ud Gplwupnyeyniu, 8dd hwuwnyeyniu:

<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutligh | g 7 huwd u
wwinudp wlwwwinwupuwtng | shwdwwwinwupuwing Uuhwiwwwwnwufuwunipjuu
</€ hwjwnbp hwjwnbp
hwdwnnun ufwpwgpnyentu
/hwdwwywwmwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugky “X”/




«EYynuhpu» UNC

9 «Lhntp £ndthwith» X
une
Clunpyws Vwutwlygh wnwowpyws
dwutwlhg ht
Uwutwlhgubiph atnndud %
Ggpwé Uwut ujwuntd
qu: :"“‘ wutiwhgh wiwlinidp |- c o wygh /winwitg UCS/
munsnn hwdwp Uk
X/ hwqup npwd
1 «Eyndhpu» UNC X 53
2 «Lhntp Lndthuh» UNC 8.5

Cunpduwd dwutwlghtt npnobjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwmtwghtt quthg gudp quwyhtt wnwewpln:

Quthwpwdhu 44:

Qudwt wnwplw E hwinhuwiund® Swnwih (udbppn) whp$bpwnnph wwpbnhunt 10 8 qifupyp
hwuwnyeniup, 15ud Gplwpnyeyniu, 748 hwuwnnip)niu:

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutwlgh 1 s t hud t
¢/c wwunudp wilwwwinwuuuting |- ghw un:wmwuluw "M | Uuhwiwwywnwuliwinyewi
hwytntip wytnbip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
1 «EYynuppu» UNC X
5 «Lhnbkp Lndthwtth» X
unc
Ctunpyws Uwutiwlygh wnwowpyws
U wutiwlyhgubph Swutiwlhg qht
qpwnbtgpwé U wutiwlygh wujwuniudp /punnyws /winuiug UCZ/
nbinkpp dwutwlgh
hwdwn Uk hwqup npwd




“X”/

1

«EYynuphpu» UNC

4.5

2

«Lhnbkp Lndthwth» UNC

7.5

Cunpws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b yjwbwht quhg gwén quuyhtt wmnwewplyp:

Quthwpwdhu 45:

Qudwt wnwplw E hwiunhuwund® Swnuih (udbpn) ypbbpwwnnph wwpbnhnt 10 08 gfupyp
hwuwnyeyniup, 15ud Gplwpnipyniu, 604 hwuwnyeniu:

<pwybiph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s 7 huwd ”
wwnud wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwuniypjuu
</< e hwjinb hwjinbk
jutan jutn hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud ugbi “X”/
1 «Eynuhpu» UNC X
9 «Lhnbkp Lndthwtth» X
unc
Cunpyus Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutwlhgubiph Jobinndwd qht
G & Uwut ujwuntd
qpll:l:l :pm wutiwlgh whduiuntdp dwutiwlygh /wnwug ULL/
TNt huwdwi gk
“x/ hwqup npwd
1 «Eyndhpu» UNL X 3.7
2 «Lhntp Lodthutth» UNC 6.5

huyjin b wjwbwght quthg gudp quuyhtt wnwewplp:

Cunpduwd dwubwlghtt npnokjnt hwdwp Yhpungws sunhwihy pujupup qhuhwngwus




Quithwpwdhu 46:

Qudwt wnwpluw E hwinhuwund® Swnui (udbpn) ypbbpwwnnph wwpbnhnt 10 04 qfupyp
hwuwneyniup, 40ud Gplwpnipyniu, 1200 hwuwnipyniu:

<pwybph <pwybiph
hwugubkpht hwugubkpht
U wutwlgh X ;uw wgubiph ) X :IW wugubiph .
¢/ wtywunuip wlwwywwnwufuwnn | shwdwywnwupuwing Uuhwiwwwwnwufuwuniypjuu
hwywnbip hwywnbp hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwutuwubnt | shwdwwwnwufuwubnt
nGwpnid ugbi “X”/ nGwpnid ugki “X”/
1 «EYynuhpu» UNC X
9 «Lhnkp Lndthwtth» X
une
Cunpdws Uwutwlygh wnwowpyws
dJwutwlhg
U wutiwlyhgubph Jotnndud qht
Ggpwé Uwut ujwuntd
qp::: :pw wutiuligh whjwtnuip dwutwlgh /wnwug UKL/
Tne huwdwi gk
X/ hwqup npwd
1 «Elyndhpu» UNLC X 4.5
2 «Lhntp Lndthuth» UNC 14.5

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwtwght quthg gudp quuyhtt wnwewplp:

Quthwpwdhu 49:

Gudwl wnwpyw E hwunhuwunid® Onpwlh dhoniy 1/2:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubkphtu
Gwutwligh | g 7 huwd 7
wwinudp wlwwwinwupuwtng | shwdwwwinwupuwng Uuhwiwwwwnwufuwunipjuu
</< hwjwnbp hwjwnbp
hwdiwnnun uwpwqpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud gk “X”/




1 «EYynuhpu» UNC X
2 «Epjhwpwny UL X
3 «Lhnkp Lndthwih» X
une
Cunpqws Uwutwlygh wnwowpywéd
dwutiwlyhg u
Uwutiwyhgubph /abnpyws qh
ujwunid
qp“‘:":"“‘é‘ Uwubwhgh wtwbinudp |0 g /winwitig UCZ/
nEnED hwdwp gk
“x/ hwqup npwd
1 «Lhnbkp Lndthwth» UL X 29.0
2 «Eynudhpu» UNC 29.0
3 «EjJhwpun» UNC 35.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pudwpup quwhwngws

hwjn b yjwbwht quhg gwén quwyhtt wmnwewplyp:

Quthwpwdhu 50:

Yudwy wnwplw E hwunhuwund® Nwwnnthwiuwgng 50ud jwyup, 64.Lpl:

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutwlgh 1\ 7 huwd u
¢/ wiywunuip wiwwwinwupuwbng | shwdwwywnwuuwing Uuhwiwwwwnwufuwunipjuu
hwytntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
«EYynuppu» UNC X
«Ejhwpwn» UNC X
U @phgnp Updugqyu X




Clunpdws Vwutwlygh wnwowpyws
dwutwlyhg u
Uwutwlhgubph A qh
G ly Uwut ujwunid
qul:l :pw wutiwlgh widwlinuip dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 U2 Qnphgnp Upjuqub X 135.0
2 «T:;llndbpu» une 124.0
3 «EjJhwpun» UNC 147.0

Chwnpjws dwubwlghtt npnotynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyjin b wjwmtwghtt quthg gudp quuyhtt wnwewplyn:

Quthwpwdhu 51:

Qudwl wnwpyuw k hwiunhuwunid® @wlywuh dhenty 8 ud Spwwih:

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
uwutwlgh 1 s ” huwd ”
wuwinuip wlwwwinwufuutng |- shwiwwwinwupuwng Uuhwdwwywwnwufuwunipjuu
</< hwjwnbp hwjwnbp
hwdiwnnun ujwpwqpnypntu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud ugbi “X”/
1 «EYynuhpu» UNC X
2 «Ejjhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
4 U2 9phgnp UyJuqyuib X
5 Juwhwqu vwgwnpu X
Upquiph» UQ
Ctunpyws Uwutiwlygh wnwowpywéd
Uwutiwlyhgubph Swutiwlhg qht
qpwnbtgpwé U wutiwlygh wujwuniudp /punnyws /winuiug U</
nbinkpp dwutwlgh
hwdwn Uk hwqup npwd




“X”/

1 Juhwql wsunpyut Upquph» U X 109.0
2 «Eynuppu» UNC 99.8
3 «Eylhwptn» UNC 145.0
4 «Lhnkp ndthwith» UNC 114.5
5 U2 9phgnp Upjuqyuib 110.0

Chnpjws dwubwlghtt npnotynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b yjwbwht quhg gwén quwyhtt wmnwewplp:

Quthwpwdhu 54:

Yudwy wnwpyw E hwunhuwund® Uknp /nnytnfw 547:

<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Ywutwlgh 1 s t huwd t
¢/c wuwinuip wlwwwinwufuuting |- shwiwwwinwupuwtng Uuhwdwwywwnwufuwunipjuu
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuppu» UNC X
2 «Ejjhwpwny UNC X
3 «Lhnbkp Lndthwtth» X
unc
4 U2 Gphgnp Upjuqyuits X
5 Juwhwqu vwywnpyui X

Upquph» UQ




Clunpdws Vwutwlygh wnwowpyws
dwutwlyhg u
Uwutwlhgubph A qh
G ly Uwut ujwunid
qu;l :pw wutiwlgh widwlinuip dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 Juwhwgh Muswinpjui Upquph» UL X 11.25
2 «T:;llndbpu» uare 12.45
3 «Ejdhwpwn» UNLC 13.5
4 «Lhntp Lndthwth» UL 14.25
5 U2 Aphgnp Uyjuqyub 12.0

Cunpduwd dwubwlghtt npnobjnt hwdwp Yhpundws swhwihy puupup quuhwndws
huyjin b wjwmtwghtt quthg gudp quuyhtt wnwewplyn:

Quthwpwdhu 56:

Sudwt wnwpyw k hwunhuwund' Lwppw)nippe:

<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Uwutiwlgh
wdwting hwiwywwwuppwunn | shwiwwywunwuluwunn Uuhwdwwwinwuluwbnie)wh
</< witiwtinuip hwjinbk hwjunbk
jutan jutn hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud gk “X”/
1 «Eyndhpu» UNC X
9 «Lhnbkp Lndthwtth» X
unc
3 | U29phgnp Upjuqyub X
Cunpdws Uwutiwlygh wnwowpywéd
dwutwlyhg u
Uwutiwlyhgubph Jotinndwd qh
G & Uwut ujwuntd
qul:l :pw wutiwlgh wwlinuip dwutiwlygh /wnwug ULL/
tEnEne hwdwp Uk
“x/ hwquwp npwd




«EYynuhpu» UNC

X 1.6
2 «EpJhwpin» UNC 16.0
3 «Lhntp Lndthwth» UL 15.0

Cunpws dwubwlghtt npnokynt hwdwp Yhpunjws swihwihy pudwpup quwhwngws
hwjn b yjwbwyht quhg gwénp quuyhtt wmnwewplp:

Quthwpwdhu 57:

Yudwy wnwplw E hwunhuwund® Unphg-Ynruwslju:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
uwutwlgh 1 s ” huwd ”
¢/ wuwinuip wlwwwinwufuuting |- shwiwwwinwupuwtng Uuhwdwwywwnwufuwunipjuu
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuppu» UNC X
9 «Lhnbkp Lndthwutth» X
unc
3 U2 9phgnp UyJuqyuib X

Clunpdws Uwutwlygh wnwowpyws
Jwutiwlhg u
Uwutiwlyhgubph Jotnndub qh
G o Uwul ujwunid
qu: :plu wutiwlgh widwlinuip dwutwlygh /wnwug UKL/
wn
e hwdwp Uyt
X/ hwqup npwd
1 «Elyndhpu» UNLC X 9.13
2 «E]lululpm» uare 16.0
3 «Lhnbkp Lndthwtth» UL 25.0

Cunpduwd dwubwlghtt npnokjnt hwdwp Yhpungws sunhwihy pujupup qhuhwngwus
hwjn b yjwbwht quhg gwén quwyhtt wnwewplp:




Quthwpwdhu 58:

Yudwt wnwplw E hwunhuwiund® Nunnunwwhw Yndyy GYn/Shwwm/:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Ywutwlgh 1 s ” huwd u
wuwinudp wlwwwinwufuuting |- ghwdwwuinwufuutng Uuhwdwwywwnwufuwunipjw
</L hwjwnbp hwjunbp
hwdwnnun ufwpwgpnyentu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugbi “X”/
1 «Eyndhpu» UNC X
9 «Lhnbkp Lndthwutth» X
une
Cunpyusé Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutwyhgubph /by qht
Ggpwé Uwut ujwunid
qu: :nw wutiulgh widuibinulp - c o butgh /wnwig ULZ/
e hwdwp Uk
“x/ hwqup npwd
1 «EYynuppu» UNC X 18.6
2 «Lhgtp Lndthwth» UL 224

Cunpdwd dwubwlghtt npnoknt hudwp Yhpungws swhwihy pudupup qhwhundwus
hwjn b yjwbwht quhg gwénp quwyhtt wnwewplp:

Quthwpwdhu 59:

Yudwi wnwpluw k hwunhuwund' Pwh gnquynp thwynyw wyngny:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubkphtu
Gwutwligh | g 0 huwd ”
¢/ wuwbnuip wlwwywnwufuwnn | shwdwywnwupuwing Uuhwdwwywunwuluwuniejw
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing

nbwpnud gk “X”/

nbwpnud gk “X”/

1 «EYynuhpu» UNC

X




9 «Lhnkp Lndthwh» X
unc
3 Juwhwqh vuswnpyui X
Upquiph» U2
Cunpqws Uwutwlygh wnwowpywéd
dwutiwlyhg u
Uwutiwyhgubph qh
bgpws | Ul twtingp | L0
nL
qu: :'“" wuliwhgh wdwtinudp |- o wygh /wnwig UCS/
nEnED hwdwp Uk
“x/ hwqup npwd
1 «Lhnbkp Lndthwtth» UL X 12.8
2 «Eyndhpu» UNC 13.3
3 Jwhwqu vwgwwnpyut Upquph» UK 14.0

Chwnpwé dwubwlghtt npnoknt hwdwp Yhpundws swihwihy pudwpup quwhwngws
hwjn b yjwbwht quhg gwén quwyhtt wmnwewplp:

Quthwpwdhu 60:

Qudwl wnwpyuw £ hwunhuwunid® Pwh unip hwynyw wyngny:

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutligh | g 7 huwd u
¢/ wiywunuip wiwwwinwupuwng | shwdwwywnwuuwing Uuhwiwwwwnwufuwunipjuu
hwywntip hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
1 «EYynuppu» UNC X
9 «Lhnbkp Lndthwtth» X
unc
3 Jwhwqh wswnpjut X

Upquph» U




Clunpdws Vwutwlygh wnwowpyws
dwutwlyhg u
Uwutwlhgubph A qh
G ly Uwut ujwunid
qu: :'“" wutiwgh wdwtinudp |- o wygh /winwiug USZ/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 «Lhntp Lndthwtph» UL X 12.8
2 «Eynudhpu» UNC 13.3
3 Juwhwqb vwswnpjut Upquph» U2 14.0

Chwnpjws dwubwlghtt npnokynt hwdwp Yhpundws swthwlhy pudupup ghwhunws
huyjin b wjwmtwghtt quthg gudp quuyhtt wnwewplyn:

Quthwpwdhu 63:

Quiwt wnwpluw L hwinhuwind® UGpwdhyuwlywyu uvwihy (Yubk) wwwbpph hwdwp swiup

20uix40ud:
<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Ywutligh | g 7 huwd ”
¢/ wtwunuip wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwuniypjuu
hwywnbip hwywnbp hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud ugbip “X”/ nbwpnud gk “X”/
1 «EYynuppu» UNC X
2 «Ejhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
Cunpyusé Uwutwlygh wnwowpywéd
dwutwlyhg
Uwutiwlyhgubph Jotinndwd qhu
G & Uwut ujwuntd
qpul:l:l :pw wutiwlgh wwlinuip dwutiwlygh /wnwug ULL/
e hwdwp Uk
“x/ hwquwp nppwd
1 «Ejjhwpwn» UNC X 160.0




2

«EYynuhpu» UNC

270.6

3

«Lhnbkp Lndthwth» UNC

325.0

Cownpjws dwubwlghtt npnotynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyun b wjwtwght quthg guép quwyhtt wnwewplp:

Quthwpwdhu 64:

Qudwl wnwpyuw £ hwiunhuwunid® Mjwundwub wnwunwnh wuyniuwlubp:

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwlgh 1 s 0 huwd u
wtwnud wlwwywwnwufuwnn | shwdwywnwupuwing Uuhwiwwwwnwufuwuniypjuu
</< e hwjinb hwjinbk
jutan jutn hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud ugbi “X”/
1 «Eyndhpu» UNC X
2 «EjJhwpw» UNC X
Cunpdws Uwutwlygh wnwowpyws
Jwutiwlhg
Uwutiwlyhgubph Jotnndub qht
G o Uwul ujwunid
qu: :plu wutiwlgh widwlinuip dwutwlygh /wnwug UKL/
wn
e hwdwp Uty
X/ hwqup npwd
1 «Elyndhpu» UNLC X 4.42
2 «Ejdhwpwn» UNLC 7.65

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwtwght quthg gudnp quuyhtt wnwewplp:

Quthwpwdhu 65:

Yudwi wnwplw E hwunhuwund® MNjwundwul wnwunwn gnyuwynp 0.250x6.04:




<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Ywutulgh 1 s ” huwd u
¢/c wuwinudp wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugb “X”/
1 «Eyndhpu» UNC X
2 «Ejhwpw» UNC X
3 «Lhntp £ndthwith» X
unc
Cunpdws Uwutwlygh wnwowpywéd
dJwutwlhg
Uwutwyhgubph /ptnpUuwd qhu
G L Uwut ujwunid
AptnEgnt wutiwlgh wiidwlinuip dwutwlygh /wnwug UKL/
wtnkpp
hwdwp Uk
X/ hwqup nppwd
1 «Eyndhpu» UNC X 46.03
2 «EjJhwpun» UNC 53.7
3 «Lhgbkp Lndthwith» UL 54.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwtwght quthg gudnp quuyhtt wnwewplyp:

Quthwpwdhu 66:

Sudwt wnwpYw k hwinhuwunut® Lywgupwh dnpwlp wdpwgubint Ynduytyun:

<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutligh | g t hud ”
wujwunuip wiwywinwufuwbng |- shudwyunwupuwting Uuhwiwwwwnwufuwunipjuu
</< hwjwnbip hwjwnbp
hwdiwnnun uwpwqpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing

nbwpnud gk “X”/

nbwpnud gk “X”/

«EYynuhpu» UNC

X




2 «Ejdhwpuny» UNC X
3 «Lhntp £ndthwith» X
une
Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph A qh
G ly Uwut ujwunid
qu;l :pw wutiwlgh widwlinuip dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 «Lhnkp Lndthwth» UNC X 15.0
2 «EYyndhpu» UNL 19.9
3 «Epjhwpwn» UL 33.0

Cunpduwd dwubwlghtt npnobjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws

huyjin b wjwmtwght quthg gudp quuyhtt wnwewplyp:

Quthwpwdhu 68:

Qudwl wnwpyuw £ hwiunhuwund® Gnuwlgdw nhdwl:

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwlgh
. § hwiwywwnwuppwunn | shwiwwywunwuluwunn Uuhwdwwwinwuluwbniewh
</< witiwtinuip hwjinbk hwjunbk
jutan jutn hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud gk “X”/
1 «Eyndhpu» UNC X
Cunpdws Uwutiwlygh wnwowpywéd
dwutwlyhg
Uwutiwlyhgubph Jotinndwd qhu
G & Uwut ujwuntd
qu: :pw wutiwlgh wwlinuip dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwquwp npwd




1

«Lhntp ndthwih» UL

X

33.32

Chnpjws dwubwlghti npnokynt hwdwp Yhpundws swhwihy pudwpup quwhwngws
hwjn b yjwbwht quhg gwén quuyhtt wminwewplp:

Quwthwpwdhu 69:

Yudwy wnwplw E hwunhuwiund® Shuwhwpww jwp (Ynnuuwnjw, Jundws):

<pufkph <pwybph
hwugubpht hwugubpht
Uwutiwlgh hl;qug nhh h:lww2 nhh
e wtiwtnugp wdiwwwwnwufuwing | shwiwwwnwufuwung Uthwiwywinwufuwbinigejwt
hwyinkp hwywnbp hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuppu» UNC X
9 «Lhnkp Lndthwtth» X
unc
3 Juwhwqh vwswnpyui X
Upquiph» U2
Cunpdws Uwutwlygh wnwowpywéd
Jwutiwlhg
Uwutiwlhgubph ot qhu
G o Uwul ujuunid
qpuntgnu wutiwlgh wdwtinidp |- o wygh /wnwig UCL/
wmbnbkpp
hwdwp Uk
“x/ hwqup npwd
1 «EYynuppu» UNC X 4.9
2 «Lhnbkp Lndthwth» UL 7.5
3 Jwhwgqh wswnpjut Upquph» U 9.5

Cunpdud dwubwlght npnokint hwdwp Yhpungws sunhwihy pujupup ghuhwunwus
huyjin b wjwbwght quthg gudp quuyghtt wnwewplp:

Quthwpwdhu 70:

Gudwt wnwpyuw b hwiunhuwund® ykdqupny 18x18x38:




<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
whiurtinudp hwiwwywwmwuluwunn | shwdwwywwwujuwunn Uthwdwywinwuluwtniewh
</<
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugb “X”/
1 «Eyndhpu» UNC X
2 U2 Aphgnp Uypjuqyuib X
3 Jwhwqh vwswinput X
Upquiph» UQ
Cunpdws Uwutwlygh wnwowpyws
dJwutwlhg
U wutiwlyhgubph Jotnndud qht
G & Uwul ujuunid
qu: :pw wutiwlgh wiwlinuip dwutwlygh /wnwug UKL/
n
e hwdwp Ut
X/ hwqup nppwd
1 Juwhwgh Mwswnpjub Upquph» U X 512.5
2 «EYyndhpu» UNL 508.3
3 U2 Gphgnp Upjuquuit 550.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwtwght quthg gudnp quwyhtt wnwewplp:

Quthwpwdhu 75:

Sudwl wnwpYuw k hwiunhuwund® Mjwundwub unnnjwlh wulniawy $-100 90*

<pwybph <pwybiph
wwhwugubtphtu wwhwugubkphtu
Gwutwligh | g 0 huwd ”
¢/ wuwbnuip wlwwywwnwufuwnn | shwdwywnwupuwing Uuhwdwwywunwuluwuniejw
hwywntp hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing

nbwpnud gk “X”/

nbwpnud gk “X”/

«EYynuhpu» UNC

X




2 «Ejdhwpuny» UNC X
3 «Lhntp £ndthwith» X
une
Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph A qh
G y Uwul ujwunid
qu;l :pw wutiwlgh widwlinuip dwutiwlygh /wnwug ULL/
n
e hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNC X 17.4
2 «EjJhwpun» UNC 19.5
3 «Lhnkp Lndthwuh» UNLC 19.2

Cunpduwd dwubwlghtt npnobjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws

huyjin b wjwmtwght quthg gudp quuyhtt wnwewplyp:

Quthwpwdhu 76:

Sudwt wnwpyw E hwiunhuwunid® Mjwuwndwub junpnduyh wuyyniuwy $-100 45*

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Ywutwlgh 1\ s ” huwd u
wtiwinusp wiwwywwnwufuwunn | shwiwwywwnwufuwung Uuhwiwywinwufuwbnigejw
</L hwjwnbp hwjwnbp
hwdiwnnun ujwpwqpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing

nbwpnud ugbip “X”/

nbwpnud gk “X”/

«Elyndhpu» UNLC X
«EjJhwpwn» UNC X
«Lhnbkp Lndthwth» X

unc




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
Ggpwé Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wbnbpp
hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNC X 17.4
2 «E]lululpm» une 19.5
3 «Lhntp ndthwith» UNC 19.2

Chwnpjws dwubwlghtt npnokynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyjin b wjwmtwghtt quthg gudp quuyhtt wnwewplyp:

Quthwpwdhu 77:

Sudwt wnwpyw E hwiunhuwunid® Mjwuwndwub junpnduyh wuyyniuwy $-100 45*

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s 7 huwd ”
wwnud wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwuniypjuu
</< e hwjinb hwjinbk
jutan jutn hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud ugbip “X”/ nbwpnud gk “X”/
1 «Eyndhpu» UNC X
2 «EjJhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
Cunpdws Uwutiwlygh wnwowpywéd
dwutwlyhg
Uwutiwlyhgubph Jotnndwd qhu
G & Uwut ujwuntd
qpul:l:l :pw wutiwlgh wwlinuip dwutiwlygh /wnwug ULL/
e hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNL X 19.9




2

«Ejhwpwn» UNC

33.0

3

«Lhnkp Lndthwtth» UNC

33.0

Ctwnpjws dwubwlghtt npnokynt hwdwp Jhpunqus swhwihy pudupup ghwhwnjwus
huyun b wjwtwght quthg guép quwyhtt wnwewplp:

Quthwpwdhu 79:

Qudwl wnwpyuw £ hwiunhuwunid® Mjwuwndwub funpnjuyh wuyyniuwy $-50 90*

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwlgh 1 s 7 huwd u
wtwnud wlwwywwnwufuwnn | shwdwywnwupuwing Uuhwiwwwwnwufuwuniypjuu
</< e hwjinb hwjinbk
jutan jutn hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud ugbi “X”/
1 «Eyndhpu» UNC X
2 «EjJhwpw» UNC X
3 «Lhnbkp Lndthwutth» X
unc
Cunpdws Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutiwlhgubph ot qhu
G L Uwut ujwunid
qp::;l :"“’ wutiwlgh wdwtinidp |- c o uygh /winwig ULZ/
e hwdwp Uk
“x/ hwqup npwd
1 «EYynuppu» UNC X 4.9
2 «EjJhwpun» UNC 7.2
3 «Lhnbkp Lndthwth» UL 7.2

Cunpdud dwubwlghtt npnobint hwdwp Yhpungws sunhwihy pujupup ghuhwungwus
hwjn b yjwbwht quhg gwén quuyhtt wnwewplp:

Quthwpwdhu 80:

Yudwi wnwplw E hwunhuwiund® Mjwuwndwub junpnjuyp wuyynowy H-50 45*




<pwybph <pwybiph
hwugubpht hwugubpht
U wutwlgh X l;uw wgubiph ) X ?w wugubiph .
¢/c wuwinudp wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «EYynuhpu» UNC X
2 «Ejdhwpun» UNC X
3 «Lhntp £ndthwith» X
une
Cunpdws Uwutwlygh wnwowpyws
dJwutwlhg
U wutiwlyhgubph Jotnndud qht
G & Uwul ujuunid
qu: :pw wutiwlgh wiwlinuip dwutwlygh /wnwug UKL/
n
e hwdwp Ut
X/ hwqup npwd
1 «Eyndhpu» UNC X 4.9
2 «Ejhwpwn» UNC 7.2
3 «Lhgbkp Lndthwith» UL 7.2

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngwus
huyjin b wjwtwght qthg gudp quuyhtt wnwewplyp:

Quwthwpwdhu 81:

Yudwt wnwplw E hwunhuwiund® Mjwundwub junpnuyh Gnwpw)tuhs $-50 90*

<pwybph <pwybiph
wwhwugubtphtu wwhwugubkphtu
Uwutiwlgh
whiurtinudp hwiwwywwwuluwunn | shwdwwywwwujuwunn Uthwdwywinwuluwbniewl
</<
hwywntp hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/




1 «EYynuhpu» UNC X
2 «Epjhwpwny UL X
3 «Lhnkp Lndthwih» X
une
Cunpqws Uwutwlygh wnwowpywéd
dwutiwlyhg u
Uwutiwyhgubph fabnpyws qh
G o Uwul ujwunid
qu: :"“‘ wubwbgh widuiindp |- o g /winwtig ULL/
n
e hwidwp Ugt
“x/ hwqup npwd
1 «EYynuhpu» UNC X 8.65
2 «Epjhwpwn» UL 138.0
3 «Lhgkp Lndthwth» UL 1n.7

Chnpjwé dwubwlghtt npnotynt hwdwp Yhpunjws swihwihy pujwpup quwhwngws

hwjn b yjwbwht quhg gwén quwyhtt wminwewplp:

Quthwpwdhu 82:

Yudwi wnwplw E hwunhuwund' <njupeninpe /40-60/ dwupwhwwwl hnyknt hwdwp

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
wutwlgh 1 s t hud t
wwbnuip wlwwwinwufuwtng |- shwiwwwinwupuwng Uuhwdiwwywwnwufuwunipjuu
</€ hwjwnbp hwjwnbp
hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
«EYynuppu» UNC X
«Ejhwpwn» UNC X
«Lhnkp Lndthwtih» X

unc




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G ly Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwqup nppwd
1 «T:;llndbpu» une X 39.9
2 «EjJhwpun» UNC 42.0
3 «Lhntp Lndthwth» UL 55.5

Chwnpjws dwubwlghtt npnokynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyjin b wjwmtwghtt quthg gudp quuyhtt wnwewplyp:

Quthwpwdhu 83:

Sudwl wnwpyw k hwunhuwund® MNjwuwndwub unnnjwulh Gnwpwfuhs $-50 45*

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s 7 huwd ”
wwnud wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwuniypjuu
</< e hwjinb hwjinbk
jutan jutn hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud ugbip “X”/ nbwpnud gk “X”/
1 «Eyndhpu» UNC X
2 «EjJhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
Cunpdws Uwutiwlygh wnwowpywéd
dwutwlyhg
Uwutiwlyhgubph Jotnndwd qhu
G & Uwut ujwuntd
qpul:l:l :pw wutiwlgh wwlinuip dwutiwlygh /wnwug ULL/
e hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNL X 8.65




2

«Ejhwpwn» UNC

14.4

3

«Lhnkp Lndthwtth» UNC

1.7

Cownpjws dwubwlghtt npnotynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyun b wjwtwght quthg guép quwyhtt wnwewplp:

Quthwpwdhu 87:

Sudwt wnwpyw k hwiunhuwunud® k). Lwdw 36W/827/4p

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwlgh 1 s 0 huwd u
wtwnud wlwwywwnwufuwnn | shwdwywnwupuwing Uuhwiwwwwnwufuwuniypjuu
</< e hwjinb hwjinbk
jutan jutn hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud ugbi “X”/
1 «Eyndhpu» UNC X
9 «Lhnbkp Lndthwutth» X
une
Cunpdws Uwutwlygh wnwowpyws
dwutiwlyhg
Uwutiwlyhgubph Jotnndud qht
G & Uwut ujwuntd
qpll:l:l :plu wutiuligh whqwtnuip dwutwlgh /wnwug UKL/
TNt huwdwi gk
“x/ hwqup npwd
1 «Lhntp Lnuthwuh» UNC X 30.0
2 «Eyndhpu» UNC 149.8

Cunpduwd dwubwlghtt npnokjnt hwdwp Yhpungws swhwihy pudupup quuhwndws
huyjn b wjwmbwght quthg gudp quuyhtt wnwewplyp:

Quthwpwdhu 88:

Yudwi wnwplw E hwunhuwunud® Ep.pup 2x1.5040 ynuéw




<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Ywutulgh 1 s ” huwd u
¢/c wuwinudp wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugb “X”/
1 «Eyndhpu» UNC X
2 «Ejdhwpuny UNC X
3 «Lhntp £ndthwith» X
unc
4 Juwhwqh vwswnpyui X
Upquiph» U2
Cunpdws Uwutwlygh wnwowpywéd
dJwutwlhg
Uwutwyhgubph /abnpyws qhu
G o Uwul ujuunid
PN wutiulgh widuibinwlp - o bugh /wnwig ULZ/
wtnkpp
hwdwp Uk
“x/ hwqup nppwd
1 Jwhwqu vwgwwnpyut Upquph» UK X 22.0*
2 «EYynuppu» UNC 24.6
3 «Epfhwpwn» UNC 34.0
4 «Lhgbkp Lndthwith» UL 36.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpunqws swhwihy pudupup quwhundws
huyjin b wjwmtwght quthg gudnp quuyhtt wnwewplp:
*BGSU wiqud Epljhp

Quwthwpwdhu 89:

Yudwy wnwpluw E hwunhuwtund® kp.jup 2x2.500 wynuéjw




<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Ywutulgh 1 s ” huwd u
¢/c wuwinudp wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugb “X”/
1 «Eyndhpu» UNC X
2 «Ejdhwpuny UNC X
3 Jwhwqb vwswinput X
Upquiph» UQ
Cunpdws Uwutwlygh wnwowpyws
dJwutwlhg
U wutiwlyhgubph Jotnndud qht
G & Uwut ujwuntd
qu: :pw wutiwlgh wiwlinuip dwutwlygh /wnwug UKL/
n
e hwdwp Ut
X/ hwqup nppwd
1 Juwhwgh Buswinpjui Upquph» UL X 235.0*
2 «Eynudhpu» UNC 188.3
3 «Eylhupwny UNC 220.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws swhwihy pudupup quuhwndws
huyjin b wjwtwght quthg gudnp quuyhtt wnwewplp:
*GSU wtinqud Epljhp

Quithwpwdhu 90:

Yudwy wnwplw E hwunhuwtunud® E.pup 2x408 wynuéyw

<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutiwhgh hwiwwywwnmwufuwin hwiwywwnwufuwin
¢/c wwinudp “ n| ¢ “ 1 Uuhwiwwwwnwufuwunipjuu
hwywntp hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwmwufuwibnt | /shwdwwwnwufuwubing

nbwpnud gk “X”/

nbwpnud ugky “X”/




«EYynuhpu» UNC

2 «Ejdhwpuny» UNC X
3 «Lhnkp Lndthwih» X
une
4 Juwhwqb vwgwinput X
Upquiph» UQ
Clunpyws Vwutwlygh wnwowpyws
dwutiwlyhg u
U wutiwlyhgubph Jotnndud qh
G & Uwul ujuunid
qu: :plu wutwligh uiiutinuip dwutiwygh /wnwug UKL/
n
e hwidwp Ugt
“x/ hwqup npwd
1 «EYyndhpu» UNL X 144.1
2 Juwhwgh Buswinpyui Upquph» UL 172.5*
3 «EjJhwpun» UNC 185.0
4 «Lhntp Lndthuh» UNC 195.0

Chwnpwé dwubwlghtt npnoknt hwdwp Yhpundws suthwihy pudupup qhwhwnyws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:
*GSU wtinud Epljhp

Quthwpwdhu 91:

Sudwt wnwpYw E hwunhuwund® E.jup 2x64d wynuéjw

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwlgh huid hud
» wiiwintdp wdwwwwnwujuwunn | shwiwwywwmwujuwinn Uthwiwwwinwuluwtnisjw
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing

nbwpnud gk “X”/

nbwpnud ugky “X”/

«EYynuhpu» UNC

X




2 «Ejhwpw» UNC X
3 «Lhntp £ndthwith» X
une
4 Juwhwqh vwswinput X
Upquiph» UQ
Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G Ly Uwut ujwunid
qpuntgpw wutiwgh wdwtinudp |- o wygh /winwiug USZ/
wmbnbkpp
hwdwp Uk
X/ hwqup nppwd
1 Juwhwgh Muswinpjui Upquph» UL X 100.0*
2 «EYyndhpu» UNL 96.0
3 «Epjhwpwn» UL 94.0
4 «Lhgkp Lndthwth» UL 118.0

Cunpduwd dwutwlghtt npnobjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
hwjn b yjwbwht quhg gwénp quwyhtt wmnwewplyp:
*BGSU wiqud Epljhp

Quithwpwdhu 92:

Yudwy wnwplw E hwunhuwund® k.Jupbp 2X2.5 /ojwuqyp/

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutiwlgh
Wi utunid hwiwywwnwuppwunn | shwiwwywunwuluwunn Uuhwdwwwinwuluwbniewh
</< e hwjwnbp hwjwnbp
hwdiwnnun ujwpwqpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «EYynuhpu» UNC X
9 «Lhnkp Lndthwtih» X

unc




3 Juwhwqb vuswinpyui X
Upquiph» U
Cunpdws Uwutwlygh wnwowpywéd
dwutwlhg u
Uwutiwyhgubph qh
bgpwé | Uwul uutmgp | /LU0
nL
qpumtEgnu wutiwgh wdwtinidp |- o wygh /wnwig UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 Jwhwqu vwgwnpjut Upquph» UK X 28.0*
2 «Eyndhpu» UNC 271
3 «Lhnkp Lndthwth» UNC 29.0

Cunpdwd dwutwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
huyjin b wjwtwghtt quthg gudp quwyhtt wnwewpln:
*GSU wtinqud Epljhp
Quthwpwdhu 93:

Yudwy wnwplw E hwunhuwund® k.Jupb) 2X1.5 /pwuqyh/

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutligh | g 7 huwd u
¢/ wiywunuip wiwwwinwupuwng | shwdwwywnwuuwing Uuhwiwwwwnwufuwunipjuu
hwywntip hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud gk “X”/
1 «EYynuppu» UNC X
9 «Lhnbkp Lndthwtth» X
unc
3 Juwhwqu vwywnpyui X

Upquph» UQ




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G ly Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 Juwhwgh Muswinpjui Upquph» UL X 20.0%
2 «T:;llndbpu» une 18.0
3 «Lhnkp Lndthwih» UNC 24.0

Chwnpjws dwubwlghtt npnokynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyjin b wjwmtwghtt quthg gudp quuyhtt wnwewplyp:
*GSU wtinqud Epljhp

Quithwpwdhu 94:

Yudwy wnwplw E hwunhuwiund® jnwwwdhni |Gp 30ud*120ud.

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s 7 huwd ”
wwnud wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwunipjuu
</L n hwjwnb hwjnb
jutan jutn hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud ugbip “X”/ nbwpnud gk “X”/
1 «Eyndhpu» UNC X
9 «Lhnbkp Lndthwth» X
unc
Cunpdws Uwutiwlygh wnwowpyws
dJwutiwlhg
U wutiwlyhgubph Jotnngud qht
qp::h:pwd U wutiwlygh wujwuniudp Jwutwlgh /winuiug UCZ/
TNt huwdwi gk
X/ hwquwp npwd




1

«EYynuhpu» UNC

1218.9

2

«Lhnkp Lndthwtth» UNC

1498.0

Cownpjws dwubwlghtt npnotynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyun b wjwtwght quhg guép quwghtt wnwewplyp:

Quthwpwdhu 95:

Yudwy wnwplw E hwunhuwiund® jnwwdthni |Gp 60ud*60ud.

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwlygh h 4 husd .
» wbiutinudp wiwwwwwupjuwunn | shwdwywwnwujuwinn Uuhwdwwwinwuluwbnie)wh
hwywnbip hwywnbp hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud ugbip “X”/ nbwpnud ugbi “X”/
1 «Eyndhpu» UNC X
9 «Lhnbkp Lndthwutth» X
une
Cunpdws Uwutwlygh wnwowpyws
dwutiwlyhg
Uwutiwlyhgubph Jotnndud qht
u ujwunid
qul:lh:nmé Vwutwlgh widwtnuip dwutwlgh /wnwug UKL/
N huwdwi gk
X/ hwqup npwd
1 «EYynuppu» UNC X 424.9
2 «Lhgbkp Lndthwith» UL 516.0

Cunpduwd dwubwlghtt npnokjnt hwdwp Yhpungws sunhwihy pujupup qhuhwngwus
huyjin b wjwbwghtt quthg gudp quuyghtt wnwewplyp:

Quithwpwdhu 96:

Yudwy wnwplw E hwunhuwtund® dkYniups dwwywyba




<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Ywutulgh 1 s ” huwd u
¢/c wuwinudp wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugb “X”/
1 «Eyndhpu» UNC X
5 «Lhnkp Lndthwih» X
une
Cunpyusé Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutwyhgubph [abnpyws qht
Ggpwé Uwut ujwuntd
qu: :'"" wutiwlhgh widwinidp |- c 0 wygh /winwitig UCZ/
e hwdwp Uk
“x/ hwqup npwd
1 «Eyndhpu» UNC X 27.6
2 «Lhnkp Lndthwth» UNC 36.0

Cunpdwd dwubwlghtt npnoknt hudwp Yhpungws swhwihy pudupup qhwhundus
huyjin b wjwtwght quthg gudnp quuyhtt wnwewplp:

Quwthwpwdhu 97:

Yudwt wnwplw E hwunhuwiund® Eplupugdwi jwp wugwwpgny 540

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
wutwlgh 1 s t hud t
wwinudp wlwwwinwupuutng |- shwiwwwinwupuwng Uuhwdiwwwwnwufuwunipjuu
</€ hwjwnbp hwjwnbp
hwdwnnun ufwpwgpnyentu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugky “X”/
1 «Eynuppu» UNC X
2 «Lhnkp Lndthwth» X




unc

3 Jwhwqb vwswinput X
Upquiph» UQ
Clunpyws Vwutwlygh wnwowpyws
dwutiwlyhg u
U wutiwlyhgubph Jotnndud qh
G & Uwut ujwtntd
qu:' 3[‘“‘ wutiuligh whdwtnuip dwutwlgh /wnwug ULL/
n
e hwdwp U
“x/ hwqup npwd
1 «Lhnkp Lndthwth» UNC X 60.0
2 «Eyndhpu» UNC 102.0
3 Jwhwqu vwgwnpyut Upquph» UK 72.5

Cunpduwd dwubwlghtt npnoknt hwdwp Yhpunqws swihwihy pudupup quwhwndws
hwjn b yjwbwht quhg gwén quwyhtt wmnwewplp:

Quthwpwdhu 98:

Yudwy wnwpluw E hwunhuwiund® wdnndwwn wugwinps 1-pwq 63U/

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutligh | g 7 huwd u
¢/ wiywunuip wiwwwinwupuwng | shwdwwywnwuuwing Uuhwiwwwwnwufuwunipjuu
hwywntip hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
1 «EYynuppu» UNC X
2 «Ejhwpwn» UNC X
3 «Lhnbkp Lndthwth» X
unc
4 | UQ9nhgnp Upjuquub X




Cunpjwéd

Vwutwlygh wnwowpyws

dwul
U wutiwlhgtbph /;tn:{lﬂle? ght
G ly Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk

“x/ hwquwp nppwd

1 «T:;llndbpu» une X 25.95

2 «EjJhwpun» UNC 49.7

3 «Lhgkp Lodthwth» UNC 45.0

4 U Anhgnp Upjuqui 45.0

Chnpwé dwubwlghtt npnoknt hwidwp Yhpundws swthwlhy pudupup quwhwnyws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:

Quithwpwdhu 99:

Yudwy wnwplw E hwunhuwiund® wjnndwn wugwinhs 1-$wq 50U/

<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Ywutlgh | g 7 huwd u
¢/ wiywunuip wiwwwinwupuwng | shwdwwywnwuuwing Uuhwiwwwwnwufuwunipjuu
hwywntip hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
1 «EYynuppu» UNC X
2 «Ejjhwpwny UNC X
3 «Lhnbp Lndthwtth» X
unc
4 | UQ9nhgnp Upjuquub X




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G o Uwul ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 «T:;llndbpu» une X 23.87
2 «E]lululpm» une 47.75
3 «Lhgkp Lodthwth» UNC 40.0
4 U Anhgnp Upjuqui 40.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:

Quthwpwdhu 100:

Sudwl wnwpyuw b hwiunhuwund® wjwnndwwn wugwinhs 1-pwq 40U/

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s ” huwd ”
wwbnuip wlwwwinwufuutng | shwiwwwinwupuwng Uuhwdiwwywwnwufuwunipjuu
</L hwjwnbp hwjwnbp
hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuhpu» UNC X
2 «Ejjhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
4 U2 Gphgnp Upjuqyui X




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G ly Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNC X 19.7
2 «EjJhwpun» UNC 45.0
3 «Lhntp ndthwith» UNC 37.5
4 U Anhgnp Upjuqui 37.5

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:

Quihwpwdht 101:

Yudwy wnwplw E hwunhuwiund® wdnndwwn wugwinps 1-pwq 320/

<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Ywutlgh | g 7 huwd u
¢/ wiywunuip wiwwwinwupuwng | shwdwwywnwuuwing Uuhwiwwwwnwufuwunipjuu
hwywntip hwywnbp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
1 «EYynuppu» UNC X
2 «Ejjhwpwny UNC X
3 «Lhnbp Lndthwtth» X
unc
4 | UQ9nhgnp Upjuquub X




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G L Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 «Eynuhpu» UNC X 18.6
2 «EjJhwpun» UNC 41.2
3 «Lhntp ndthwith» UNC 32.5
4 U Anhgnp Upjuqui 35.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:

Quthwpwdhu 102:

Sudwl wnwpyw k hwunhuwund® wjwnndwwn wugwinhs 1-pwq 25U/

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s ” huwd ”
wwbnuip wlwwwinwufuutng | shwiwwwinwupuwng Uuhwdiwwywwnwufuwunipjuu
</L hwjwnbp hwjwnbp
hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuhpu» UNC X
2 «Ejjhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
4 U2 Gphgnp Upjuqyui X




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G o Uwul ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNC X 17.6
2 «E]lululpm» une 38.7
3 «Lhntp Lndthwth» UL 27.5
4 U Anhgnp Upjuqui 35.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:

Quthwpwdhu 103:

Qudwt wnwpyuw b hwunhuwund® wjnndwwn wugwinhy 1-pwq 16U/

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s ” huwd ”
wwbnuip wlwwwinwufuutng | shwiwwwinwupuwng Uuhwdiwwywwnwufuwunipjuu
</L hwjwnbp hwjwnbp
hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuhpu» UNC X
2 «Ejjhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
4 U2 Gphgnp Upjuqyui X




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G y Uwul ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNC X 13.2
2 «E]lululpm» une 29.0
3 «Lhntp ndthwith» UNC 18.0
4 U Anhgnp Upjuqui 28.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b ywjwbwht quhg gwénp quwyhtt wmnwewplp:

Quthwpwdhu 104:

Qudwt wnwpyuw E hwunhuwund® wugwinhy tpYunbnuing

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s ” huwd ”
wwbnuip wlwwwinwufuutng | shwiwwwinwupuwng Uuhwdiwwywwnwufuwunipjuu
</L hwjwnbp hwjwnbp
hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuhpu» UNC X
2 «Ejjhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X

unc




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
Ggpwé Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wbnbpp
hwdwp Uk
“x/ hwquwp nppwd
1 «Eyndhpu» UNC X 15.5
2 «E]lululpm» une 23.7
3 «Lhntp Lndthwth» UL 23.7

Cownpjws dwubwlghtt npnokynt hwdwp Yhpundws swthwlhy pudupup ghwhunws
huyjin b wjwmtwghtt quthg gudp quuyhtt wnwewplyp:

Quthwpwdhu 105:

Qudwl wnwpYw E hwunhuwunid® wugwinhg

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
uwutwlgh 1 s ” huwd ”
¢/ wuwinuip wlwwwinwufuuting |- shwiwwwinwupuwtng Uuhwdwwywwnwufuwunipjuu
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud ugb “X”/
1 «EYynuhpu» UNC X
2 «EjJhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
Cunpdws Uwutiwlygh wnwowpyws
dJwutiwlhg
Uwutwlhgubph o qhu
G & Uwut ujwuntd
qul:l :pw wutiuligh whduibinuip dwutiwygh /wnwug ULL/
e hwdwp Uty
X/ hwqup nppwd




«EYynuhpu» UNC

X 25.0
2 «EpJhwpin» UNC 39.6
3 «Lhntp Lndthwth» UL 38.4

Cunpws dwubwlghtt npnokynt hwdwp Yhpunjws swihwihy pudwpup quwhwngws
hwjn b yjwbwht quhg gwénp quuyhtt wnwewplyp:

Quthwpwdhu 106:

Yudwy wnwplw E hwunhuwiund® wugwinhs wpunwpht

<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Ywutwlgh 1\ ” huwd ”
¢/ wtwunuip wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwuniypjuu
hwywnbip hwywnbp hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «EYynuppu» UNC X
2 «Ejdhwpun» UNC X
3 «Lhnbkp Lndthwth» X
unc
Cunpyus Uwutwlygh wnwowpywéd
dwutiwlyhg
Uwutwlhgubiph Jobinndwd qht
G o Uwul ujwunid
qpll:l:l :plu wutiwlgh whduiuntdp dwutwlgh /wnwug UKL/
TNt huwdwi gk
“x/ hwqup npwd
1 «Eyndhpu» UNC X 13.25
2 «E]lululpm» uare 19.8
3 «Lhnbkp Lndthwth» UL 19.2

Cunpdud dwubwlght npnobint hwdwp Yhpungws sunhwihy pujupup qghuhwnwus
hwjun b yjwbwht quhg gwén quwyhtt wmnwewplyp:




Quthwpwdhu 107:

Yudwy wnwplw E hwunhuwiund’ Jupnul wpunwpht

<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Ywutwlgh 1 s ” huwd t
¢/c wuwunuip wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwutuwubnt | shwdwwwnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «EYynuhpu» UNC X
2 «EjJhwpwn» UNC X
3 «Lhnkp Lndthwtth» X
une
Cunpdws Uwutwlygh wnwowpyws
dJwutwlhg u
U wutiwlyhgubph Jotnndud qh
Uwut ujwuntd
qu:h:ptué wutiuligh whjwtnuip dwutwlgh /wnwug UKL/
N huwdwi gk
X/ hwqup npwd

1 «Elyndhpu» UNLC X 22.0

2 «Ejdhwpwn» UNLC 36.0

3 «Lhgtp Lndthwth» UL 32.0

Cunpdwd dwubwlghtt npnokjnt hwdwp Yhpungws suhwihy pujupup qhuhwngws
hwjn b yjwbwht quhg gwénp quwyhtt wnwewplyp:

Quihwpwdht 108:

udwy wnwplw E hwunhuwund' Jupnuy




<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Ywutulgh 1 s ” huwd u
¢/c wuwinudp wlwwwinwufuutng |- ghwdwwwinwufuutng Uuhwdwwywwnwufuwunipjw
hwywntip hwytntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwwufuwubnt | /shwdwwwnwufuwubing
nGwpnid ugbip “X”/ nGwpnid ugb “X”/
1 «Eyndhpu» UNC X
2 «Ejhwpw» UNC X
3 «Lhntp £ndthwith» X
unc
Cunpdws Uwutwlygh wnwowpywéd
dJwutwlhg
Uwutwyhgubph /ptnpUuwd qhu
G L Uwut ujwunid
AptnEgnt wutiwlgh wiidwlinuip dwutwlygh /wnwug UKL/
wtnkpp
hwdwp Uk
X/ hwqup nppwd
1 «EYynuppu» UNC X 83.33
2 «EjJhwpun» UNC 144.0
3 «Lhgbkp Lndthwith» UL 136.0

Cunpduwd dwubwlghtt npnobjnt hwdwp Yhpungws swhwihy pudupup quuhwndws
huyjin b wjwtwght quthg gudnp quuyhtt wnwewplyp:

Quthwpwdhu 111:

Gudwt wnwpyuw b hwunhuwund® wjwudwub ninbunwp 25X16

<pwybph <pwybiph
wwhwugubtphtu wwhwugubkphtu
Uwutiwlgh hwiwwywwwuluwunn | shwdwwywwwujuwunn
¢/ wuwbnuip hugnkin gk Uuhwdwwywunwuluwuniejw
hwdwnnun ufwpwgpnyentu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud uob| “X”/ nbwpnud uok| “X”/




1 «EYynuhpu» UNC X
2 «Ejhwpwn» UNC X
3 «Lhnkp Lndthwih» X
une
Cunpqws Uwutwlygh wnwowpywéd
dwutiwlyhg u
Uwutiwyhgubph fabnpyws qh
G o Uwul ujwunid
qu: 3"“‘ wubwbgh widuiindp |- o g /winwitig UCZ/
n
e hwdwp Ut
“x/ hwqup npwd
1 «Eyndhpu» UNC X 2.9
2 «Epjhwpwn» UL 13.2
3 «Lhgkp Lndthwth» UL 5.0

Chnpjwé dwubwlghtt npnotynt hwdwp Yhpunjws swihwihy pujwpup quwhwngws
hwjn b yjwbwht quhg gwén quwyhtt wnwewplyp:

Quthwpwdhu 112:

udwi wnwpluw E hwunhuwiund® wjwundwub puhY upnulh b wugwwnhsh

<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Ywutwlgh 1\ ” huwd u
¢/ wujwunudp wiwwwinwupuwtng | shwiwwwinwupuwng Uuhwiwwwwnwufuwunipjuu
hwywntip hwywntp hwdwnnun ufwpwgpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubing

nbwpnud ugbip “X”/

nbwpnud gk “X”/

«Eynuppu» UNC

X

«Ejhwpwn» UNC




Cunpdws Vwutwlygh wnwowpyws
dwutwlhg u
Uwutwlhgubph ot qh
G ly Uwut ujwunid
qpuintgnu wutiwgh wdwtinudp |- o wygh /winwitg UCS/
wmbnbkpp
hwdwp Uk
“x/ hwquwp nppwd
1 «T:;llndbpu» une X 66.5
2 «E]lululpm» une 80.0

Cunpws dwubwlghti npnokynt hwdwp Yhpundws swihwihy pujwpup quwhwngws
hwjn b yjwbwht quhg gwénp quuyhtt wnwewplyp:

Quithwpwdht 113:

Qudwy wnwpyuw E hwunhuwund® pwfups ninuh

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
wutwlgh 1 s 7 huwd ”
wwnud wiwwwinwupuwtng | shwdwyuwnwufuuwing Uuhwiwwwwnwufuwuniypjuu
</< e hwjinb hwjinbk
jutan jutn hwdwnnun ufwpugpnyeniu
/hwdwwywwnwufuwibnt | /shwdwwwnwufuwubine
nbwpnud ugbip “X”/ nbwpnud ugbi “X”/
1 «Eyndhpu» UNC X
2 «EjJhwpwn» UNC X
3 «Lhnbkp Lndthwtth» X
unc
Cunpdws Uwutiwlygh wnwowpywéd
dwutwlyhg
Uwutiwlyhgubph Jotnndwd qhu
G o Uwul ujuunid
qpul:l:l :pw wubiwhgh whjuiunudp dwutwlgh /wnwug ULL/
e hwdwp Uk
“x/ hwquwp nppwd
1 «Ejjhwpwn» UNC X 18.0




2

«EYynuhpu» UNC

19.5

3

«Lhnkp Lndthwtth» UNC

28.2

Cownpjws dwubwlghtt npnotynt hwdwp Yhpunjws swthwihy pudupup quuhwngws
huyun b wjwtwght quthg guép quwyhtt wnwewplp:

Quthwpwdhu 118:

Qudwl wnwpyuw £ hwiunhuwund® k.jwdy 60ud 10w-jtin

<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
uwutwlgh 1 s ” huwd ”
¢/c wuwinuip wlwwwinwufuuting |- shwiwwwinwupuwtng Uuhwdwwywwnwufuwunipjuu
hwywntip hwywntip hwdiwnnun ujwpwqgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud gk “X”/
1 «EYynuppu» UNC X
9 «Lhnbkp Lndthwutth» X
unc
3 U2 9phgnp UyJuqyuib X

Cunpdws Uwutwlygh wnwowpyws
Jwutiwlhg u
Uwutiwlyhgubph Jotnndud qh
G o Uwul ujwunid
qul:l :plu wutiwlgh whduiuntdp dwutwlygh /wnwug UKL/
wn
1o hwdwp gk
X/ hwqup npwd
1 «EYynihpu» UNC X 120.5
2 «Lhntp Lodthutth» UNC 159.0
3 U2 9phgnp Upduqyuit 180.0

Cunpdwd dwubwlghtt npnobjnt hwdwp Yhpunqws swhwbhy pudupup qhwhundws
huyjin b wjwbwghtt quthg gudp quuyghtt wnwewplyp:




Qwthwpwdhu 119:
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